06-17-2013
Time:3 Hours

Baghdad University
Engineering College
Civil Department

Final exam
Engineering Surveying 2" Class
Answer five questions including question six

Q:1 In a series leveling for the center line of a road under
construction the staves readings were as follows:

0.95 -2.05 -1.50 -2.10 -2.65 -1.35 -2.10 -0.55 -1.40 -1.10

If the grade of the last point was(402.5m) and the height of the
fill in this point was(1.25m), the slope of the road between
points (1 to3) was (-1.2%) and between points(3 to 6)was(0.0%)
and between(6 to 8) was (6.7%) calculate the depth of cut and
the height of fill in each point ,if the distances between points
were (0- 26 -41.6 -53 -84 -98 -108 -140 ) respectively.

The underlined values represent turning points.

Q:2 A steel tape has the following specifications: Mass=0.5kg,
A=2mm’,E=20 x10"° N/m, (L at 20 ¢° and 50 N
tension=30.005m) ,a=11x10° / C° ,IFAT=15.2 ¢’ and P=100N in
the site which was with a slope (0.06%) and 500m above M.S.L.
calculate the corrections for one time measurement with this
tape.(R=6370km).

Q:3 In a 300m radius horizontal circular simple curve the
coordinates of the P.C. are( 2014.257mE,1542.168mN) and the
coordinates of the P.l. are
(2115.372mE,1593.188mN),P.C.=1109.27m,calculate the
components of this curve L_M_E_P.T._P.l. and C).
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